SYM CHANGES DATE BY

M10x1.5 TAP ¥ 20.00
(3) PLACES ¢10'(g§) F'?I'_;'CEZ'OO \ 1 ORDERING INFORMATION
-~ 1541[6.1] —4
;2510.((;()) PF. ¥ 2000 7 prezsl-{ T T 1L 1CICICI0E][c] %
\ | \ | | | 15.0 [0.59] T TIP ANGLE 4’ Top Plate
‘ ‘ 0.00 [0.000] 4 0:0 [0:00] 2 89135] 025, 030, 035, 040,045 0 None (Standard)
15.0[0.59] ports T Top Plate
I | L i N Pneumatic- NPT Ports Switch Position
- | G Pneumatic- G Ports E SO1ExtPos
- Thoho~m o - = = © M10x1.5 TAP THRU R SO1RetPos
= A A (4) PLACES Aeaator
3 00 WLWLW S 3 g X < 0 Standard ——— Switch Type
3 R R i e © e 2 L Locking C Cylinder Switch
MOUNTING PLATE OPTION "A" Mounting
0 No plate (standard) Port Position

113.5 [4.47]
78.5[3.09]
43.5[1.71]

39.01[1.536]

STANDARD SHOWN AND TOP PLATE OPTION "T" SHOWN M10x1.5 TAP ¥ 20.00
s (@) PLACES NEARISDE L o L e
_ 3 : > - (2)PLACES FARSIDE y i 3 Port Position
5 d 4 IN LINE - ALL OPTIONS Switch 4 Port Position (Shown)
) 4 E Efector Weld Immune
—3000[11.81] &  salluff
@8.00 DRILL ¥ 16.00 S Sick (Standard) Weld Immune

— 39.01[1.536]

281.0 [11.06] —
- : 246.0 [9.69] O O
& M10x1.5 TAP ¥ 18.00 231.0[9.09] e 2
—1 & [ (8) PLACES — 216.0 [8.50] 2N :
| NAAMS RISER | 0 5
MOUNTING ) [E &E \ [E‘IE 4 [E% 6
M10x1.5 TAP ¥ 18.00 PATTERN == ™~ — 10.00 DRILL ¥ 20.00 Q \ 0 o
i i Q
(4) PLACES NEARSIDE BOTH SIDES & 1300 547] (2) PLACES NEARSIDE o %o o o
(4) PLACES FARSIDE 9 | e (2) PLACES FARSIDE o s oo
IN LINE - ALL OPTIONS o
IN'LINE * ® 104.0 [4.09] ° ° ﬂ
| ol ° b NS
o> & o 69.0[2.72] o @ O 7000276 \Q[}i 9 l\@tbé . g
o ® 0 -~
Sg L— @10.00 P.F. ¥ 18.00 1 | S iﬁ 7777777 L 35.0[1.38] |
15.0 [0.59] (4) PLACES NEARSIDE i O O
0.0[0.00] s’ (4) PLACES FARSIDE @ @ - 0.0[0.00] 1o § 0.0[0.00]
15.0[0.59] — | — IN LINE T O
30.0[1.18] — | ©®© O
45.8 [1.80] | — ‘ 46.0 [1.81] U I U ] W il
L | ] +o.o3[ +0.001 | | \{Dai ‘\lua »\{ﬁ
i \ 12,00 506 19472 5000 AN
| 55 CENT KWAY STANDARD UNIT OPTIONAL OPTIONAL
| S o, MOUNTING PLATE
| .2 MOUNTING PLATE AND TOP PLATE
1/4 NPT OR G1/4 | = o
PORTS = 40.0 [1.57] —— - 95.0[3.74] g
S ‘ i S
= | S S. SEE SHT 2 FOR LOCKING CYLINDER
. | o
< 235 [93] ‘ g g THIS DRAWING IS PROPERTY OF E&E CUSTOM PRODUCTS INCLUDING THE PRINCIPLES OF THE DESIGN
| o NOT|CE INVOLVED, AND IS SUBMITTED WITH AGREEMENT THAT IT IS NOT TO BE REPRODUCED, COPIED, OR LOANED, IN
‘ 45# E & E PART OR WHOLE, ACCEPTANCE OF THIS DRAWING WILL BE CONSTRUED AS AN AGREEMENT TO THE ABOVE
\ B TLE bNEUMATIC PART POSITIONER
‘ CUSTOM
%ﬁ@] | r\63.0MM BORE CYLINDER \@_@} PRODUCTS | PART NO.
SRS 75MM VERTICAL LIFT BEFORE TILT —
DRAWN BY: CHKDBY: _EC APPRDBY: 1T
STANDARD UNIT SHOWN MOUNTING PLATE OPTION "A" MOUNTING PLATE OPTION "A" 200 MILLER DR, |DATE: 611412023 | DATE: 112312024 DATE. 112312024
AND TOP PLATE OPTION "T" SHOWN AND TOP PLATE OPTION "T" SHOWN WARREN, MI 48092 [SCALE. __ 1/4 DWGNO.  pop7s TEMPLATE
EE-CP.COM SHT 1 OF 3 —




M10x1.5 TAP ¥ 20.00 B10.00PF. T 1200 1 SYM CHANGES DATE BY
(3) PLACES 2) PLACES x ] ORDERING INFORMATION
@10.00 P.F. ¥ 20.00 '
(2) PLACES %_ erzs L T T ICICICICIC] €] %
15.0 [0.59
0.0010.000 | 001000 TIP ANGLE Top Plate
[ [0.000] T § 15.0 [0,59] 89[3.59] 025, 030, 035, 040,045 0 None (Standard)
J | | J_j'jﬁb # T Top Plate
Ports
=3 L @ MIXI5TAPTHRU N Pneumatic- NPT Ports Switch Position
g Shgs® § 2 0 © g (4) PLACES G Pneumatic - G Ports E SO1ExtPos
PN =1 5 = s g R SO1RetPos
g DO g g = ﬁ 9_’ Acuator
™ SRGEEH ~ Al 0 Standard Switch Type
MOUNTING PLATE OPTION "A" L Locking C Cylinder Switch
STANDARD SHOWN AND TOP PLATE OPTION "T" SHOWN
Mounting
0 No plate (standard) Port Position
~ o = A Mounting Plate as Shown 1 Port Position
; g ™~ B Mounting Plate opposite 2 Port Position
© o %‘ 3 Port Position
= = @ E g M10x1.5 TAP ¥ 20.00 Switch 4 Port Position (Shown)
3 3 (2) PLACES NEARISDE : E:E;’f“ ielelimpe
g g (Z)PLACES FARSIDE S Sick (Standard) Weld Immune
= 3 IN LINE - ALL OPTIONS wooey T M
281.0 [11.06] J:__ @8.00 DRILL ¥ 16.00 B X200
(8) PLACES 261011028 2N
] ] M10x1.5 TAP ¥ 18.00 231.0 9..091 [E g
(8) PLACES 216.0[8.50 lm
bl N
M10x1.5 TAP ¥ 18.00 A\ ST — @10.00 DRILL ¥ 20.00 o o
(4) PLACES NEARSIDE NAAMS RISER — 1390 [5.47] (2) PLACES NEARSIDE o o
° MOUNTING )3 | (2) PLACES FARSIDE °
(4) PLACES FARSIDE PATTERN
IN LINE BOTH SIDES f f 104.0 [4.09] IN LINE - ALL OPTIONS ° ~
— o
o ¢ o 69.0 [2.72] N 5 ® & 70.0[276] ® 0
of 17
— @10.00 P.F. ¥ 18.00 ‘ dc T L 35.0[1.38]
15.00.59 (4) PLACES NEARSIDE 1T © Of ®
201009 — (4) PLACES FARSIDE o o 0.0{0.00] o 8 < 0.0{0.00]
30.0[1.18 - IN LINE ® © o 460 161
T T T 12,00 *0.03 [0 4 P00 T 081
VN ; 990200 472 - 0.000
®@ @ CENT K'WAY
/ <> o zE
G1/8 PORT ? —_ AT L by NI
o
~ } = ‘*\{gék N Jgé@ ‘[Q?
‘ OPTIONAL
40.00 [1.575] -1 > 95.00 [3.740] STANDARD UNIT OPTIONAL MOUNTING PLATE
1/4 NPT OR G1/4 ‘ MOUNTING PLATE AND TOP PLATE
PORTS 1l 340 [13.4] | il WITH ROD LOCK WITH ROD LOCK WITH ROD LOCK
g ‘ 8 THIS DRAWING IS PROPERTY OF E&E CUSTOM PRODUCTS INCLUDING THE PRINCIPLES OF THE DESIGN
— ‘ o, NOTlCE INVOLVED, AND IS SUBMITTED WITH AGREEMENT THAT IT IS NOT TO BE REPRODUCED, COPIED, OR LOANED, IN
g ‘ § 8 E & E PART OR WHOLE, ACCEPTANCE OF THIS DRAWING WILL BE CONSTRUED AS AN AGREEMENT TO THE ABOVE
\ A s = TMLE  PNEUMATIC PART POSITIONER
| S CUSTOM
\5 } proDUCTS |PARTNO:
DRAWN BY: CHKDBY: EC APPRDBY: TT
ANBA(T)gyEFErElBA;ﬁg[\TI-}-?,;HgWN MOUNTING PLATE OPTION "A" 7200 MILLER DR. | DATE: 6/14/2023 DATE: 1/23/2024 DATE: 1/23/2024
STANDARD LOCKING AND TOP PLATE OPTION "T" SHOWN WARREN, MI 48092 | SCALE: 1/5 DWG.NO. PPP75 TEMPLATE
UNIT SHOWN EE-CP.COM  [SAT 2 OF 3 —




SYM CHANGES DATE BY
- gp10 -
WITH TOP PLATE - gm0 -
WITH TOP PLATE
- %7(105] @ —
WITHOUT TOP PLATE - %7105 @ —
WITHOUT TOP PLATE
]
el
=
o o o lheli
—
O O
. o o o
o o o
O O
i ) - qC -
© O o o o
776 [30.6] 671 [26.4]
- - i L
' i
= o [
- o
®
o
0 THIS DRAWING IS PROPERTY OF E&E CUSTOM PRODUCTS INCLUDING THE PRINCIPLES OF THE DESIGN
fl ‘ %—@J OO ot ACCEPTANCE O Hrm DRAIING WL B CONSTaLED &% AAGAEENENT 10 M SBOVE.
E * E TITLE pNEUMATIC PART POSITIONER
%—@J CUSTOM  I'57RT NG
PRODUCTS :
LOCK| NG CYL| NDER SHOWN STAN DARD CYLINDER SHOWN DRAWN BY: CHKDBY:  EC APPRDBY: TT
o (45 o MAX O P E N S H OWN) 7200 MILLER DR. | DATE: 6/14/2023 DATE: 112312024 DATE: 112312024
(45° MAX OPEN SHOWN) e o o8 10W6N0 ppp7s TEMPLATE




